VE PART]

Duration: 3 hrs.

Time: 30 mins.

1. Who authored the book 'The I
a. Socrates i
¢. Plato o=

2. Who among the following
Science?

a. Aristotle

¢. Acquinas

3.

4. Which one of the following ” Py

Litutional

Behavioral

in the
r';;.

«.

il‘:»(f‘ivf'n‘.t‘ ,H,: o f



12.

13.

14.

15.

16.
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18.

19.

20.

...................... .....means getting equal opportunities for development. |

a. equality b. liberty

c. justice d. freedom

(e WOTC B0 Bt cansvnsisonin s originated from aequus.

a. equality b. liberty

c. fraternity d. justice

What is the meaning of the term “Liber”?

a. To be free b. To achieve justice
c. To achieve equality d. None of the above

Who gave the statement “Over himself, over his body and mind, the individual is

sovereign”?

a. Mill b. Rawls

c. Seeley d. Bentham

Who said that liberty is the opposition of over government?

a. Aristotle b. Marx

c. Rawls d. None of the above

What is the meaning of the term “Demos”?

a. lerritory b. people

¢. power d. government
WL BN Tl lp o if 1o A s word.

a. Latin b. Greek

¢. Hebrew d. None of the above

What is the meaning of the term “Kratos”?
a. lterritory b. people
¢ power d. government

Who gave the statement Democracy means “A government of the people, by the
people and for the people”?

a. Mill b. Aristotle

¢. Lincoln d. None of the above

Who gave the statement “Democracy is a government in which every one has a
share”?

a. Mill b. Aristotle

¢. Lincoln d. None of the above

121 USTM/COE/R-01



4 [Degcril;tive]

Time : 2 Hr. 30 Mins.

1

w

[ Answer question no,1 & any four (4) from the rest |

Define Political Theory. Discuss its significance.

What are the traditional approaches to the study of political science?
Discuss

Define State. Discuss its basic elements.

Discuss the Social Contract Theory regarding the origin of the State.
Discuss the meaning and types of liberty.

Wrile a note on meaning and types of Justice.

Discuss the Meaning and three dimensions of democracy.

Explain the conditions or safeguards of democracy.

==t

Marks : 50

3+7=10

3+7=10

3+7=10

10

10

10

10

10
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